A
VCC 10
1
| >T1_YDD
SCL_|— o ST1-SCLK
5V 1= ~T1-SDIN
SDA — =T1_D/C
GND “T1-CE
? —1_ WYD? D? D?
i =3 4 y R? [ R? 7SN
—1 " BAV99— BAV99—] BAV99 e | bR ~T1_CAP
.|.
P1 IN? ¥ ¥ o —= RESET B
9 > VCC |+ o 10uF LCD Nokia VCC
3 10uF j—? D9 D?
MSP? 1 IC? 1N4148 1N4148
TDO ; — o z P1.7/A3-/SDI/SDA/TDO/TDI  VCC I |<
VCCout |— S =— P1.6/TA1/A3+/SDO/SCL/TDITCLK 9 PILE?
TDI — $——1 PL5/TA0/A2-/SCLK/TMS 100nE “ JCR2025
VCCin |— SoC ——— PL4/SMCLK/A2+/TCK "
T™MS |— e 7| PL3/VREF/AL- VSS &
TCLK |— S = PL2TAVAI+/A4-
TCK RY & 5 PLUTAO/A0-/A4+
TEST [— 33K o P1.0/TACLK/ACLK/A0+ 1o R?
GND_— . P2.7/XOUT
NC — o : TEST/SBWTCK 330K ==y
RST —5 ? 10 | — 13 32768Hz
NC |3 1 RST/NMI/SBWTDIO P2.6/TA1/XIN
NC 4

NC = 33K ——C?
DIL14 1 100nF ?
| BP? BP? / BP?

C?
I I MSP430F2013 C? c
22pF 18pF
BP? ? L

D
TABLEAU DE BORD POUR VAE | _
« Lycée Louis Couffignal f C
1 h s } S\ &
| 11, route de la Fédération &)
CREMMEL Marce Classe: TS2EL | 67100 STRASBOURG
Date: 11/01/2007 Time: 22:18:54 Sheet1 of 1 COUFFIGNAL
File: H:\Themes BTS\Systemes\7 Automatique Robotique\Propulsion électrique\Projet 2007\Prote\OT2 - Tableau de bord1.SCHDQ

1 2 3 4




	Schematics
	OT2 - Tableau de bord1.SCHDOC
	Components
	BP?
	BP?-1
	BP?-2
	BP?-3
	BP?-4

	BP?
	BP?-1
	BP?-2
	BP?-3
	BP?-4

	BP?
	BP?-1
	BP?-2
	BP?-3
	BP?-4

	BP?
	BP?-1
	BP?-2
	BP?-3
	BP?-4

	C?
	C?-1
	C?-2

	C?
	C?-1
	C?-2

	C?
	C?-1
	C?-2

	C?
	C?-1
	C?-2

	C?
	C?-1
	C?-2

	C?
	C?-1
	C?-2

	D?
	D?-1
	D?-2

	D?
	D?-1
	D?-2

	D?
	D?-1
	D?-2
	D?-3

	D?
	D?-1
	D?-2
	D?-3

	D?
	D?-1
	D?-2
	D?-3

	I?
	I?-1
	I?-2
	I?-3
	I?-4

	IC?
	IC?-1
	IC?-2
	IC?-3
	IC?-4
	IC?-5
	IC?-6
	IC?-7
	IC?-8
	IC?-9
	IC?-10
	IC?-11
	IC?-12
	IC?-13
	IC?-14

	LCD Nokia
	LCD Nokia-1
	LCD Nokia-2
	LCD Nokia-3
	LCD Nokia-4
	LCD Nokia-5
	LCD Nokia-6
	LCD Nokia-7
	LCD Nokia-8
	LCD Nokia-9
	LCD Nokia-10

	MSP?
	MSP?-1
	MSP?-2
	MSP?-3
	MSP?-4
	MSP?-5
	MSP?-6
	MSP?-7
	MSP?-8
	MSP?-9
	MSP?-10
	MSP?-11
	MSP?-12
	MSP?-13
	MSP?-14

	PILE?
	PILE?-1
	PILE?-2

	P_IN?
	P_IN?-1
	P_IN?-2
	P_IN?-3

	R?
	R?-1
	R?-2

	R?
	R?-1
	R?-2

	R?
	R?-1
	R?-2

	R?
	R?-1
	R?-2

	R?
	R?-1
	R?-2

	Y?
	Y?-1
	Y?-2


	Nets
	GND
	BP?_2
	BP?_4
	C?_1
	C?_2
	I?_4
	LCD Nokia_6
	MSP?_9
	R?_1

	NetBP?_1
	BP?_1
	BP?_3
	IC?_2
	LCD Nokia_2

	NetC?_1
	C?_1
	R?_1
	Y?_2

	NetC?_2
	C?_2
	IC?_14
	PILE?_2

	NetD?_1
	D?_1
	PILE?_1

	NetD?_3
	D?_3
	I?_3
	R?_1

	NetIC?_6
	IC?_6
	LCD Nokia_5
	MSP?_7

	NetIC?_7
	IC?_7
	LCD Nokia_8
	MSP?_5

	NetIC?_8
	IC?_8
	MSP?_3
	R?_2

	NetIC?_9
	IC?_9
	MSP?_1
	R?_2

	NetIC?_11
	IC?_11
	MSP?_8
	R?_1
	R?_2

	NetIC?_12
	IC?_12
	R?_2

	NetLCD Nokia_9
	LCD Nokia_9

	NetLCD Nokia_10
	LCD Nokia_10

	NetMSP?_2
	MSP?_2
	P_IN?_3

	NetMSP?_4
	MSP?_4

	NetMSP?_6
	MSP?_6

	NetMSP?_10
	MSP?_10

	NetMSP?_12
	MSP?_12

	NetMSP?_13
	MSP?_13

	NetMSP?_14
	MSP?_14

	VCC
	D?_1
	LCD Nokia_1
	P_IN?_2
	R?_2





